MaTtemaTunka 6 Knacc



_ y " 4 I

o O - ueHTp
\ OA - paauyc
A C/l - aAnameTtp
/ C =nd
C =2mnr
S =nr’

O




1M

4cm

5am

10m

om

24Ccm

30am

o0m




4cm | OOM [ 10m
S |3m? [48cm?|75amM?|300Mm?

-
N
<




N3BeCTHO, YTO BO BCeX
LMpKax Mmpa agmameTp
apeHbl paBeH 13 M. X
Hangute nnowanb
LLUPKOBOW apeHbl.



PelwlmeHuMe.

S =
r=d:2,r=13:2=6,5u
S ~3-65’=3-42,25=
—126,75m"

OTBeT: nnowaab UMPKOBOU apeHbl 126,75 M2



r=2cm, R =8cm
S =mr’

S =R —mr’

S =314-8"—-3,14-2°

S =3,14-(64—-4)=3,14-60 =
= 184,4cm”




- HanauTte naowaab 3aKpaweHHoOU &urypbl

r =35cm,a = 3cm
2 2
S=mr":;5 =a

2 2
S=mr" —a

S =314-5>-3°
S =785-9=695cm"
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r="7Tcm,a =3cm,8 =2cm
2
S=mr":5 =as
2
S =mr" —as

S=314-7"-3-2
S =153,86—6=147.86¢cm"




